SPARE PARTS & ACCESSORIES

n STUD FOR CAMLOCK Code No. fl':f Taper size 1:4 pes/set STUD AND LOCKNUT Code No. » ?.':f Taper size 1:4 pes/set
(DIN 55029) (DIN 55027)
2 7-899-103 M10 x 0.04 - 1.38 3 3 7-921-903 M10 x 1.34 3 3
7-899-104 M10 x 0.04 - 1.46 4 B] 7-921-904 M10 x 1.54 4 3
3 7-899-105 M12 x 0.04 - 1.69 5 6 7-921-905 M10 x 1.69 5 4
7-899-106 M16 x 0.06 - 1.93 6 6 7-921-906 M12 x 1.97 6 4
7-899-108 M20 x 0.06 - 2.19 8 6 7-921-908 M16 x 2.36 8 4
4 7-899-111 M22 x 0.06 - 2.64 11 6 7-921-911 M20 x 2.95 11 6
7-899-115 M24 x 0.06 - 2.99 15 6 7-921-915 M24 x 3.54 15 6
5 7-899-120 M27 x 0.08 - 3.5 20 6 7-921-920 M24 x 3.94 20 6
Y For 1 piece Y For 1 piece
LOCKING HALF-RING Chuck size ity Chuck size it
[in] [in]
35%%, 37**, 38** 3975 35%%, 37**, 38** 3975
5" 7-888-706 7-888-706 5" 7-888-505 7-888-505
6" - 7-888-706 5-1/2" - 7-888-505
8" 7-888-706 7-888-706 6" 7-888-506 7-888-506
10" 7-888-708 - 8" 7-888-508 -
12" 7-888-710 - ] 10" 7-888-510 =
16" 7-888-712 - 12" 7-888-512 -
20" 7-888-716 - 16" 7-888-516 -
25" 7-888-720 - 20" 7-888-520 -
= 32" 7-888-725 - = 15" 7-888-525 -
or Type or Type
35%% 37+ 38+* 3975 800 7-888-725 - 35%* 37+ 38%* 3975 32" 7-888-525 =
STUD BOLT 0
- chugksize  Code No,
in]
3" 7-888-904
4" 7-888-904
5" 7-888-906
6" 7-888-906
8" 7-888-910
10" 7-888-910
12" 7-888-910
16" 7-888-920
20" 7-888-920
25" 7-888-920
= 32" 7-888-920
3105, 32**, 36**, 38**, 40:: 2888970
4505, 4605, 4705, 4805 49 7-888-920

100 www.bison-america.com « e-mail: info@bison-america.com



